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Al 2,166,689 1,999,856 166,833
SENENSARTYEN 43,200 38,880 4,320
= 21,600 21,600 0
= 6,480 5,184 1,296
Al 15,120 12,096 3,024
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Al 10,500 0 10,500
ABlZOl SOHHE X & 15,000 0 15,000
= 9,750 0 9,750
Al 5,250 0 5,250
307 £I2H0| & 15,000 0 15,000
= 9,750 0 9,750
Al 5,250 0 5,250
02 2IAANEE 15,000 0 15,000
0 SHEZAY 15,000 0 15,000
O MEB20 MEXL 300,0008 * 202 6,000 0 6,000
= 3,900 0 3,900
Al 2,100 0 2,100
O W0 MET 450,0008 * 209 9,000 0 9,000
= 5,850 0 5,850
Al 3,150 0 3,150
SRR E-ED P 37,000 37,000 0
= 11,100 11,100 0
Al 25,900 25,900 0
206 TH 2l 37,000 0 37,000
= 11,100 0 11,100
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NRETI 37,000 0 37,000
O SHEZAL 37,000 0 37,000




Sk
X ZH -
=1

el

CE Fn
Soiol =XEX
EMHAANATH

SN B CR(BH) - NREMY - BAS 0l &k 24 plE-T" HlDE 2
O &std AdFHFZH(U=SEE) 20,000& = 1,85004 37,000 0 37,000
= 11,100 0 11,100
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307 2rztol A 0 37,000 A 37,000
& 0 11,100 A 11,100
Al 0 25,900 A 25,900
02 It &8 =X 0 37,000 A 37,000
[ SHEXAS 0 37,000 A 37,000
O &ded AFILMAE (N=TE) 238 0¥ 0 37,000 A37,000
= 0 11,100 A 11,100
Al 0 25,900 A 25,900
EE=PIPN IV DAL 84,000 75,000 9,000
= 25,200 22,500 2,700
Al 58,800 52,500 6,300
402 QIZ2tXH20l A 84,000 75,000 9,000
= 25,200 22,500 2,700
Al 58,800 52,500 6,300
01 QIEXtE2 8 X 84,000 75,000 9,000
[ SHEXZAS 84,000 75,000 9,000
O dRd2AINXNA Z2 & 54,000,000 54,000 45,000 9,000
= 16,200 13,500 2,700
Al 37,800 31,500 6,300
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Jl 38,620 34,468 4,152

s 11,586 10,340 1,246

Al 27,034 24,128 2,906

02 a1zt & 77,240 68,936 8,304
O Jse 77,240 68,936 8,304
ORENE 2& 77,240,000 77,240 68,936 8,304

Il 38,620 34,468 4,152

= 11,586 10,340 1,246

Al 27,034 24,128 2,906

ASSAE 74,357 80,365 26,008
Il 37,178 40,183 A 3,005

= 11,154 12,054 2900

Al 26,025 28,128 A2,103

307 21ztol A 74,357 80,365 26,008
Il 37,178 40,183 A 3,005

= 11,154 12,054 2900

Al 26,025 28,128 A2,103

02 212+ & 74,357 80,365 26,008
O Jse 74,357 80,365 26,008
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= 213,431 209,725 3,706
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= 28,371 30,723 22,352
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Al 3,191 0 3,191
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= 19,305 19,305 0

= 5,792 5,792 0

Al 13,513 13,513 0

201 € B2l 38,610 0 38,610

= 19,305 0 19,305

S 5,792 0 5,792

Al 13,513 0 13,513
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= 19,305 0 19,305

= 5,792 0 5,792

Al 13,513 0 13,513
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= 0 19,305 A 19,305

= 0 5,792 A5, 792

Al 0 13,513 A 13,513

02 2t &E X 0 38,610 N 38,610
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